CBSE CLASS-X Social ScienceScience Chapter-1 Power Sharing
3 marks Questions

1. How Belgian government solved its ethnic Problem?

a. The Path of accommodation adopted in Belgium.

b. Dutch and French speaking ministers shall be equal in the central govt.

c. Many Powers of the central government have been given to state govt. The state govt. are not
subordinate to the central govt.

d. Brussels has a separate govt. in which both the communities have equal representation.

e. There is a third kind of govt. called community govt. elected by the people belonging to Dutch, French
and German no matter where they live.

2. What is majoritariamism? How it has led to alienation of majority community in SriLanka?
Ans. The dominance of majority community to rule the country in whichever way it wants totally disregarding

the wishes and needs of minority community is known as majoritarianism. In srilanka mainly there are two
communities- Sinhala and Tamils the leaders of the sinhala community sought to secure dominance over the
govt. by virtue of their majority. Sinhala has been recognized as the official language of the country by
disregarding Government followed a preferential policy favoring Sinhalase in university portions and govt. jobs.
The govt. encouraged and protected Buddhism. The distrust has turned into a civil war that has caused a setback
to social cultural and economic life of Srilanka.

3. Describe three demands of Sri Lankan Tamils. How did they struggle for theirindependence?
a. Recognition of Tamil as an official language.
b. Regional autonomy
c. Equal opportunity in securing jobs and education.
They formed several political organizations, but when the government tried to suppress their activities by force,
this led to civil war.
4. How is power shared among different organs of the government, l.e., legislature, executives and
judiciary?
a. This type of power sharing is known as horizontal power sharing as well as all the organs is placed at
the same level and each organ can check the other.
b. For example even through ministers and government officials exercise power, they are responsible to
the parliament.
5. How is federal government better than a unitary government? Explain with examples of Belgium and
Sri Lanka.
Ans. Federalism is a system of government under which power is divided between a central authority and its

various constituent units. In federal government power is shared among the different levels of government but
in unitary government all powers are in the hands of a single unit. The Belgium leaders tried to solve the ethnic
problem by respecting the feeling and interest if different committees and regions by establishing a federal
government, where asthe Sri Lankan Government tried to solve the problem through Majoritarianism.

6. Write down the features of Horizontal division of power sharing.
Ans. Horizontal Division of power, in which power is shared among different organs of the government like

legislature, Executive and Judiciary.

a). Different organs of the government exercise the power.b). It specifies the concept of check and balance.
It ensures the concept of the expansion of the democracy.

Examples: Legislature, Executive and Judiciary are the organs Government of India

7. Write Down the features of Vertical division of power sharing.
Ans. In vertical division of Power Sharing power is shared among the different levels of the government like

Union Government, state government and Lower levels.
a). Different levels of the government exercise the power of the government. b). No specification of the system
of checks and balance.
It ensures the concept of deepening of democracy.
Central Government, State Government and Panchayat Raj are the example of the Vertical division of Power
Sharing.

8. Give a comparative analysis between Belgium and India in the sphere of area.



Ans. Area wise Belgium is a small countryin Europe. Itis smallerin area than that ofHaryana in India.

It has borders with Netherlands, France and Germany. Regarding population it has a population over one crore,
about half of the population of Haryana. It has a very complex ethnic composition comprising various language
speakingcommunities than India which is a secular and integrated country.

9. Whatis the reason for tension in Belgium?
Ans. a). The Dutch form 59%, the French form 40% and the German about 1% comprises the population of

Belgium.

b). The French community is in majority in the capital of Belgium, Brussels. c). They are rich Ans. Horizontal
Division of power, in which power is shared among different organs of the government like legislature,
Executive and Judiciary.

a). Different organs of the government exercise the power.b). It specifies the concept of check and balance.

It ensures the concept of the expansion of the democracy. Examples: Legislature, Executive and Judiciary are the
organs Government of India

10. Give a comparative analysis between Belgium and India in the sphere of area.
Ans. a).Area wise Belgium is a small country in Europe. Itis smaller in area than that ofHaryana in India.

It has borders with Netherlands, France and Germany.

Regarding population it has a population over one crore, about half of the population of Haryana.

It has a very complex ethnic composition comprising various language speaking communities than India which is
a secular and integrated country.

11. What was the background of Sri Lankan Tamils?
Ans. a). Their forefathers came from India as plantation workers during colonial period.

Tamils who are brought as indentured laborers from India by British colonists to work in estate plantation are
called Indian Origin Tamils. Sri Lankan Tamils live in the north eastern part of the country.

12. What do you mean by good democratic front? Explain.
Ans. People rule through the representatives elected by them self.

a) Due respect is given to different groups and views that exist in the country. b). everyone has right to vote and
value of each vote is equal.

c) Everyone has a voice in the shaping of public policies and as many people as possibleshould share power.

13. Briefly explain the ways in Which power sharing between different organs of the government results in the
maintenance of balance of power.

Ans. Power is shared among different organs of government like the legislature, executiveand judiciary.

a). Each organ is equally important in a democracy and they exercise different powers.b). Separation of powers
ensures that all organs exercise their power within limits.

c). Each organ checks the others. This results in the maintenance of balance of power amongvarious institutions.
Mention any three provisions of the Act which passed in Sri Lanka in 1956 toestablish Sinhala Supremacy.

Ans. a). In 1956, an act was passed under which English was replaced as the country’s official language not by
Sinhala and Tamil but Sinhala only.

a. The state shall protect and foster Buddhism. Denial of citizenship to estate Tamils.

b. Tamil natives of the country are called Sri Lankan Tamil are 13%.

c. Tamils who are brought as indentured laborers from India by British colonists to work in estate
plantation are called Indian Origin Tamils.

d. There are about 7% percent Christians, who are both Tamils and Sinhala.

13. Give reason for which power sharing is desirable?
a. Power sharing is desirable because it reduce the possibility of conflict.
b. It ensures the stability of political order.
c. It strengthens the unity of the country.
14. What is power sharing?
a. Power sharing is a strategy wherein all the major segments of the society are provided with a
permanent share of power in governance of the country.
b. It is a means for sharing practices and established rule and roles to facilitate broad based decision-
making, controlling and leading.
c. Itis potential tool for solving disputes on the society.

15.1Is it necessary for a country to be big in size to follow power sharing solutions? What are the other



factors involved in it?
a. No.itisnotnecessary for a country to be big in size to follow power sharingsolutions.
b. Other factors like multi-ethnicity, racial, cultural, linguistic, regional differences play and equally
important role in devising power sharing solutions.
c. Power sharing is sought for deeply divided societies where there are varied social interests of
various groups and it is required to share power among them to avoid civic strifeand social unrest.
Some form of power sharing is always needed to give voice and representation to all the members of the country

and involve them in the working of the system

16. What are the different forms of power sharing in modern democracies? Giveexample of each.
Ans. a). Power is shared among different organs of the government as legislature, executive and judiciary.

Example: The constitution of India divides powers between the executive, legislature and judiciary.

Power is shared among government at different levels. Example: Indian constitution establishes a duel policy in
which the powers are divided between state and union government.

Power is shared among various social groups. Example: Community government style asfollowed in Belgium.
Power is shared among various political parties, pressure groups and movements. Example: The multi-party
system as followed in India.

17. State the prudential reason of power sharing.
Ans. a). These reasons are based on the careful calculations of gains and losses occurring due to the adoption of

a particular style of governance. Power sharing reduces the possibility of conflict between the social groups and
the violent upheavals that may happen otherwise.

It is seen as a compromise that is sought among the various groups to ensure the stabilityof the political leaders.
Power sharing is a strategy for resolving disputes over who should have the most powerful position in the social
hierarchy.

18. State the moral reason of power sharing.

a. Power sharing is the basic spirit of democracy. A Democratic rule involves giving voice and
representation to all the people who would be affected by the policies and the rulemade.

b. A Democratic government is legitimate government which is chosen by the people so they have the
right to be consulted on how they are to be governed.

c. A legitimate government is one where people, through participation, acquire a stake in the system.

d. The moral reason emphasis the intrinsic worth of power sharing.

19. Describe any three demands of Sri Lankan Tamils.
a. Theirlanguage that the Tamil should be given equal status with that of Sinhalalanguage.
b. There should be no discrimination between them and the Sinhala residents of Sri Lanka in
government jobs and university admissions.
c. Their religion whether Hinduism and Christianity should be given equal respect with that of
Buddhism.
d. They should be given equal political rights.
20. What is community government?
a. A community government is one in which different social groups are given the power to handle the
affairs related to their communities.
b. They are expected to work jointly for the benefit of the common masses without undermining any
one community.
c. To solve the dispute, in Belgium community government is elected by people belong to one language
community-Dutch, French and German speaking.
21. What is coalition government?
a. The making of coalition government is possible only in those countries where multi- party system is
prevailing.
b. A coalition government is a cabinet of parliament government in which several partiescooperate.
It generally happens when no party gets majority in the parliament and several parties jointogether to form a

government
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Class X: Unit 1

Unit 1: Communication Skills — 11

Assignment Solutions

Multiple-Choice Questions (MCQs)

1.

Ans.

Ans.

Ans.

“Who told you the truth?” What kind of sentence is
this?
a. Imperative b. Exclamatory

c. Declarative d.
d

Interrogative

“Open the door” What kind of sentence is this?
a. Imperative b. Exclamatory

c. Declarative d.
a

Interrogative

Which of the following is a part of speech?
b. Adjective
d. All of these

a. Noun

c. Preposition
d

Long Answer Questions

1.

Ans.

Ans.

Ans.

Explain the importance of feedback in a

communication cycle.

Communication is incomplete without feedback. In case of
communication cycle with feedback, the receiver does not
only receive the message, it can also respond to the sender the
response given by the recipient to the sender is called feedback.
The feedback may be oral or non-verbal. For example, the e-mail
used to reply in official communication is also a form of feedback.
The communication cycle with feedback is shown in Figure3.
Feedback is the response from the receiver’s side. If the receiver
is not able to understand the message, then depending upon the
feedback, the sender can refine the message.

What are the factors of effective communication?

A communication barrier is anything that refrains us from
understanding the message sent by someone. Various factors to
be avoided for effective communication are as follows:

O  Stereotyping: We often form stereotypes about those persons
whom we know the least. Once our mental sets are created,
all our conversations get affected. This prevents us from
effective listening.

e}

Halo Effect: This is another form of stereotyping. On the basis
of single characteristic of a person, we make up our mind
usually positively about that person. We may like someone’s
mannerisms while speaking and get so impressed that we are
unable to see any negative points.

Explain the types of communication barriers.

An effective communication requires that a message is conveyed
clearly between communicators in such an order that it serves the

Ans.

desired purpose. For successful communication one must know
what barriers do communication exist and must ensure that they
do not obstruct communication. Various types of barriers are as
follows:

O Physical barriers: Distortion, noise, environment, climate,
technical problem, workplace design, time and distance and
information overflow are some physical barriers to effective
communication.

O Language barriers: If someone speaks a word that is not
understandable by the receiver then the message will not be
conveyed. The language, accents, dialect, slangs and jargons
are also factors to effective communication. For example,
the technical words that are used by doctors and lawyers
are completely different. Some jargons such as adjournment
(jargon used by lawyers for delaying a trial for defendant) and
BP (medical jargon for Blood Pressure) are used by people in
their profession and can cause barrier to communication.

O Gender barriers: Gender barriers are any misunderstanding
or confusion in the intended message caused by male and
female differences. In order to be effective, communication
must be understood by both men and women.

O Attitudinal barrier: The behavior or perception of a person
that may prevent him/her from conveying the message
properly is called attitudinal barrier.

O Perceptual barrier: Different people have different views.
Different views may lead to misunderstanding. Most people
interpret messages from their point of view. They do not try
to understand the message from the sender’s perspective.
This may lead to miscommunication.

O Cultural barrier: Social, religious, and ethical differences
may lead to misunderstanding and misinterpretation of the
messages.

O Emotional barrier: Due to anger, fear and other kind of
emotions, it becomes difficult to understand what someone
wants to convey. Some people hold back their thoughts and
feelings and do not communicate them to others.

Explain the various to overcome
communication barriers.

Some measures to overcome communication barriers are
explained as follows:

measures

O Try to assess the needs of receiver: The speaker or sender
of the message should always ask for the feedback from the
receiver’s end. This helps in better understanding of the
needs of the receiver and modifying the type or mode of
communication, if required. The focus of the speaker should
be on “know your audience”.

O Hone your active listening skills: Listening plays a major
role in making any communication/ conversation successful.
To enhance your listening skills, you must first learn to
acknowledge the thoughts and feelings of others without
being judgmental.

Communication Skills — 1
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O Soften your tone and language: It is necessary for the boss
of an organization to soften down his/ her tone while talking
to the employees as his/her every move is watched by others.
One should be professional while speaking.

whether this is happening or not, one should take feedback

from the receiver frequently. This can be done by asking

questions in between the conversation. Such feedback should

be taken positively.

O Encourage feedback: It is the responsibility of the sender
to convey the message successfully to the receiver. To know

Information Technology




Class X: Unit 2

Unit 2: Self-Management Skills — Il

Assignment Solutions

Multiple-Choice Questions (MCQs)

1.

Ans.

Ans.

Ans.

What kind of outcomes are expected from intrinsic
motivation?

a. Areward in terms of money
A reward in terms of promotion in job

b

c. Enjoying the task one is doing

d. Areward of good grades in exam
C

Which of the following can be seen in a self-
motivated person?

Doing something without the influence of others
Do not need someone to encourage them

a
b
c. Take problems as challenges
d. All of these

d

emotion, a person wants to
insult or criticize someone.

a. Approach b. Avoid
c. Attack d. None of these
C

Long Answer Questions

1.

Ans.

What is the meaning of self-analysis? Explain in
detail.

Self-analysis plays an important role in everyone’s life. It is a
process where we have to focus on ourselves completely. Self-
analysis is an understanding of knowing our internal qualities,
abilities, strengths and weaknesses. It is also an understanding
of our positive and negative attributes. It also helps in converting
weaknesses into strengths. To identify your strengths:

O Think about the areas in which you do well.

O Think about the areas in which you can do well.

O Point out the areas in which others appreciate you.

Since no one is perfect in this world; hence, there is no issue if
you have some weaknesses but if you are able to identify your
weaknesses and work on that, then you, will enhance your skills.
To identify your weaknesses:

O Think about the areas of improvement.

O Think about the feedback received from others.

O Point out the areas in which you cannot do well.

Ans.

Ans.

What do you mean by self-awareness? Explain its
types.

Individuals with self-awareness have an ability to observe
themselves from an objective viewpoint. It is the individual’'s
ability to recognize and understand his/her strengths, weaknesses,
emotions and limitations in order to enhance the credibility and
leadership qualities. The unique components of self-awareness
are experiences, thoughts and abilities. These components create
emotional intelligence in human beings. Hence, self-awareness is
a key to emotional intelligence. To be aware about yourself, one
has to dedicate himself to self-improvement. This is because when
someone understands what he lacks only then can he can put
efforts to improve.
Types of Self-Awareness
Self-awareness is the capacity of a person to examine his/her own
thoughts or feelings. The process of examining own thoughts
is called introspection. One can know various shades of his/her
characteristics by being more aware about him/herself. In this
way, a person can know about his/her personality defects and can
overcome it. There are two types of self-awareness:

O Public self-awareness: The kind of awareness that comes into
being when people are at the center of attention, such as
giving a presentation or speech at a public gathering. This
kind of self-awareness often forces people to follow certain
social norms.

O Private self-awareness: The kind of awareness that comes
into being when people become aware about themselves and
their inner instincts, such as seeing your face in a mirror or
introspecting on one’s own conduct.

Explain the techniques used for managing stress.
The techniques for stress management are explained as follows:

O Deep breathing: One of the simplest techniques of stress
management is to take deep breaths. Being in stress, can lead
to shallow breathing, which deprives our body from oxygen
and may cause muscle tension. Taking deep breathes in times
of stress can help us to better control our body is reaction
to stress.

O Muscle relaxation: Muscle relaxation technique focuses on
our entire body. This technique is used to reduce stress by
stretching muscles.

O Meditation: In this stress-reducing technique, you need a
peaceful place to sit for a few minutes.

O One has to try to get rid of his/her own thoughts to eliminate
stress.

O Going on vacations: Vacations or holidays with friends and
family is also a stress-relieving technique.

A good vacation can help us to reconnect with ourselves as

vacations help us to take some amount of time away from the

Self-Management Skills — 1
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stress of daily life. After a vacation, you can return to your daily life
refreshed.

o

Taking nature walks: Walking helps us to relieve stress. For
relief from stress, come out of your stressful environment,
take deep breaths in the air and feel your body moving.
Walking helps in releasing the body’s natural happy drug
called endorphins. To relieve yourself from stress and anxiety,
one should spend time in nature. Walking in the lap of nature
improves one’s mood and boosts a feeling of happiness.

Information Technology

o

Natural scenery captures our attention and hence, calms our
nerves.

Yoga or exercise: Yoga or exercise not only makes an
individual more fit, but also helps in reducing stress. It even
helps in building stamina, which is helpful to avoid stress.
Spending time on social network: By spending time on
the social circle that comprises our relatives, friends, and
colleagues you can reduce your stress.
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CBSE CLASS-X Social ScienceEconomics Chapter-1
The Story of Development
1 marks Questions

The total income of the country divided by its total population is Called:
National income

Per capital income

Total income

. None of these

Ans. (b) Per capital income

err

[=Pe]

Which organization publishes the Human Development Report:
WHO

UNDP

WTO

. IMF

Ans. b) UNDP

3. Development of a country generally can be determined by:
a. its per capita income
b. Itsliteracy level
c. Health status of its people
d. All above
Ans. d) all above
4. As per Human Development Report 2006 which neighboring country has the highest
Income following —
a. SriLanka
b. India
c. Pakistan
d. Nepal
Ans. (a) Sri Lanka

5. What will happen if the government fails to provide 100 days employment underNREGA?
Ans. Unemployment allowance will be given.

aoTeN

6. Whatis the main motive of Private sector enterprises?Ans. Profit making
Sahara Airlines and B.S.E.S. are examples of:

Ans. Private Sector
7. In which year the National Rural Employment Guarantee Act was implemented?
Ans. 2005

8. Name the neighboring country that has better performance in terms of human development than
India.

Ans. Sri Lanka
9. Which age group of children is included for calculating Net Attendance Ratio?
Ans. 6 to 10 years

10. What is development goal of a girl from a rich urban family?
Ans. She gets as much freedom as her brother and is able to decide what she what she wants to do in life.

She is able to pursue her studies abroad.

11. What are the development goals of prosperous farmers from Punjab?
Ans. Assured a high family income through higher support prices for their crops and through hardworking

and cheap labourers; they should be able to settle their childrenabroad.

12. What was the per capita income of Biharin 2002-03?
Ans. Rs 5700

13. What are the development goals of prosperous farmers from Punjab?
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Ans. Assured a high family income through higher support prices for their crops and through hardworking
and cheap labourers; they should be able to settle their childrenabroad.

14. What is Infant Mortality Rate?
Ans. Infant Mortality Rate indicates the number of children that die before the age of one year as a

proportion of 1000 live children born in that particular year.

15. What is Literacy rate?
Ans. Literacy Rate measures the proportion of literate population in the 7 and above agegroup.

16. What is environment degradation?
Ans. Environment degradation refers to the degradation of natural resources and pollution.

17. Why do different people have different goals for development?
Ans. Different people have different goals for development because:

Different people have different aspiration and desire. Some may like to have ‘'more income and better
quality of education for their children, while others may require no social discrimination and high support
price for their crops. So according to the living conditions and the environment in which the person stays, he
or she pursue for the goals. People seek things that are most important for them i.e., that which can fulfil
their aspiration or desires.

18. Why average income is taken into consideration instead of total income while making comparison
between countries?
Ans. The total income of the country is the income of all the residents of the country. For comparison

between countries, total income is not such a useful measure. Since countries have different population,
comparing total income will not tell us what an average people is likely to earn. Hence we compare the
average income which is the total income of the country divided by its total population. So, Average
income = Total income Total population the average income is also called per capita income.
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CLASS-X SOCIAL SCIENCEPOLITICAL SCIENCE CHAPTER-1 POWER SHARING
1 MARK QUESTIONS
1. How many people speak French and Dutch in the capital city of Brussels?
a. 60 percent French 40 percent Dutch
b. 50% Dutch 50% French
c. 80% French 20% Dutch
d. 80% Dutch 20% French
Ans. ¢) 80% French 20% Dutch
2. How many times leaders of Belgium amended their constitution?
a. Two times
b. Three times
c. Four times
d. Since time
Ans. C) Four times
3. Which one of the following is correct regarding power sharing?
a. It leads to conflict between different groups.
b. Itensures the stability of the country.
c. It helps to reduce the conflict between different groups.
d. Both B and C are true
Ans. d) Both B and C are true
4. Which was the only official language of Sri Lanka?
a. Tamil
b. Malyalam
c. Sinhala
D. none of the mention above
Ans. ¢) Sinhala

none of the mention aboveAns. (b) French
What is Majoritarianism?
Ans. A belief that the majority community should be able to rule a country in whatever way it wants,
by disregarding the wishes and needs of the minorities.
6. Mention one step which was taken by Sri Lankan Government to createMajoritarianism.
Ans. In 1956, an act was passed to recognize Sinhala as the official language.
7. State one prudential reason and one moral reason for power sharing from the Indian context.
Ans. India 1s a multinational society and India is a democratic country.
8. Name the country which has lost peace due to Majoritarianism?
Ans. Sri Lanka.
9. What s the difference between prudential and moral reasons for power sharing?
Ans. Prudential reasons stress that power sharing will bring out better outcome or results; whereas
moral reasons emphasize the very act of power sharing as valuable.
10. Name two subgroups of Tamils in Sri Lanka.
Ans. Sri Lankan Tamils and Indian Origin Tamils.
11. What is the system of checks and balances of power sharing?
Ans. Under this system, one organ of the government keeps the check over other. None of the organs
can exercise unlimited power.
12. State two main bases of the social divisions in Sri Lanka.
Ans. Religion and Language
13. Who formed majority in terms of population in Sri Lanka?
Ans. Sinhalese Buddhist formed majority.
14. Who formed majority in terms of population in Belgium?
Ans. The Dutch formed majority
15. In which year, Sri Lanka emerged as an independent country?
Ans. In 1948

4. Which community was rich and powerful in Belgium?
a. German

b. French

¢. Dutch

d.
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16. What is the linguistic composition of Belgium?
Ans. 59% people speak Dutch, 40% people speak French and 1% people speak German.
17. How is power shared in modern democracies?
Ans. In modern democracies power is shared among different organs of government, among
government at different levels and among various political parties, pressure groups etc.
18. What do you mean by federal division of power?
Ans. Power shared at different levels of government
19. Name the community that is relatively rich and powerful in Belgium.
Ans. French minority community
20. What does the word ethnic refer to?
Ans. It refers to a social division based on shared culture.
21. Which type of power sharing is called checks and balances?
Ans. Horizontal distribution of power
22. Which two languages are generally spoken in Belgium?
Ans. French and Dutch
23. Give one example of horizontal sharing of power.
Ans. Power sharing among Legislature, Executive and Judiciary.
24. Who elects the community government in Belgium?
Ans. People belonging to one language community-Dutch, French and German
25. What was a community government?
Ans. It was elected by the people belonging to language community — Dutch French and German
speaking no matter where they live. It deals with cultural, educational and language related issues.
26. What were the political problems faced by Belgium?
Ans. Problems of ethnic composition-
a. 50% Dutch speaking, 40% French speaking, 1% German speaking b). But in its capital- 80%
French speaking, 20% Dutch speaking
¢). French community was rich and powerful

27. Explain the ethnic problem of Srilanka.
Ans. In Silence there are two communities' Sinhala and Tamil, among Tamils the Tamil natives who
are called, Srilankan Tamils and the Indian Tamils whose forefathers come from India as plantation
workers during the colonial period. Most of the Sinhalas are Buddhist and Tamils are Hindus or
Muslims.
So in Srilanka the problem was who is going to hold power and enjoy the economic benefits.






CLASS-X Social Science
Economics Chapter-1

The Story of Development
3 marks Questions

1. Write a paragraph on your nation that what should India do, to become a developed
country?
Ans. 1. Control the rate of increasing population.
ii. Use of latest technology, irrigation facility, chemical fertilizers, and all information should
be provided to farmers.
iii. New economic policy, international trade, liberalization and globalization should be
adopted sincerely and effectively.
iv. Adequate facilities related with infrastructure, education, health, electricity, water,
transport etc should be provided to all people of all regions and areas.
2. What is the main criterion used by the World Bank in classifying different countries? What are
the limitations of this criterion, if any?
Ans. Per capita income is the main criteria used by World Bank. Limitations of per capita income: It
enables to show how income is distributed among the people of the country. Cost of pollution is not
considered in this average. Some other important aspects like infant mortality rate, literacy rate, net
attendance ratio etc are not considered while calculating per capita income.

3. Do all persons have the same notion of development? Explain.
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Ans. No, all persons have not same notion of development. All the persons have their own different
development notions. It differs from person to person. The notion of development of one person may
not be development notion of other person. The development notion of a student may not be the
development notion of a teacher.

4. Explain the important aspects of our lives that are important than income.
Ans. Besides higher income, people also want to seek other important non-material things. For
instance people want to have equal treatment, freedom, security, respect in the society, tension-free
life, affectionate behavior and they dislike discrimination. All these are important non material
goals.

5. Explain the goals of different persons may sometime be conflicting.
Anms. 1. It is possible that two different categories of people may seek things which are conflicting to
each other. For instance a new generation girl would like to have as much freedom as her brother
and expects that her brother should also share in the households. Similarly workers in a factory are
interested in higher wages and more facilities.

6. Explain any three limitations of per capita income?
Ans. 1. Since per capita income is an average measure, it is possible that with the increase inincome
the rich may become richer and poor poorer.
2. It is thus possible that with the increase in per capita income greater inequality in the
distribution of income may crop up.
3. Average income is undoubtedly useful comparison but it does not tell us how income is
Distributed among people in a country, it may hide disparities.

7. What is the main concern with regard to sustainable development?
Ans. 1. The main concern of the sustainable development is to save the resources from itsdepletion.
2. Development should take place but not at the cost of environment.

3. Resources should be reserved for future generations.
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8. What is environment degradation? Give a few examples?

Ans. 1. Environment degradation refers to the degradation of natural resources andpollution.
2. Global warming is the result of environment degradation.
3. Depletion of resources is also an example of environment degradation.
4. Extinction of flora and fauna is also an example of environment degradation.
9. Mention in brief the factors which are important goals in our life.
Ans. 1. People desire regular work, good salary structure and decent prices for crops or other products
that they produce. We can say that the desired for more income.
2. People also want equal treatment in the society.
3. People want freedom, security and respect for others.
4. They don’t expect discrimination.
10. Which recent report is the basis for the classification of countries as developed and low income
countries?
Ans. 1. The average income called per capita income criterion is used in classifyingcountries.
2. In the World development report 2006, brought out by the World Bank, This criterion is used
in classifying countries as developed countries and low income countries.
11. Explain the terms average income and national income.
Ans. 1. Average income: Average income is the total income of the country divided by its total
population. It is also known as per capita income.
2. National Income: It is the sum total of value of all the final goods and services produced
within the country and income from foreign factors.
12. How are countries classified by World Development Report?

Ans. 1. World Development Report 2006, brought out by the World Bank, this criterion is used in
classifying countries.
2. Countries with per capita income of Rs 453000 per annum are called rich or developed
countries.
3. Those with per capita income of Rs 37000 or less are called low income countries.
13. How do we calculate the total income of a country and what is meant by Per capitaincome?
Ans. 1. The total income of a country is the income of all the residents of that country.
2. This gives us the total income of the country.
3. The average income called per capita income is calculated as the total income of the country
that is national income, divided by its total population.

Some Comparative Data on Punjab, Kerala and Bihar

Infant Mortality rate periLiteracy rate (%)Net Attendance ratio for classI-V

1000 (2003) 2001 (1995-96)
State
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Punjab 49 70 81

Kerala |11 91 o1

Bihar 60 41 41

14. ‘Human development is the essence of social development.” Explain
Ans. 1. Human development focuses on the people.
2. It is concerned with the well being of the people, their needs, choices and desires.
3. It is also about the enlarging or widening the choices for the people. It is building of human
capabilities, such as to lead a long and a healthy life, to have education, information and knowledge.
15. Comparison of Two countries:

Country Monthly income of citizens in 2008 (in Rs)

1 11 I [gv v
Country A 9500 10500 9800 (10000 (10200
Country B 500 500 500 [500 48000

16. Compare India and Sri Lanka on the basis of any three indicators of Human Development Index
for 2004.

Ans. 1. The Life Expectancy: The life expectancy at birth is much higher in Sri Lanka than India.
The Life expectancy in Sri Lanka is 74 while in India it is 64.
2. Literacy rate: The Literacy rate in Sri Lanka is high as comparison to India. It was 91% in Sri
Lanka and 64% in India in 2004.
3. Gross Enrolment ratio: Gross enrolment ratio of India was 60 and it was 69 in Sri Lanka it was
69 in 2004.
17. Explain the consequences the world face if non renewable resources get exhaustedin the world?

Ans. 1. Speed of development will be slowed sown.
2. The situation of life will become very difficult.
3. People will try to find out the alternative resources of the renewable resources.
4. It will also cause a threat to the world peace.

18. What is meant by sustainable economic development? Give its main feature.

Ans. 1. Sustainable Economic Development: It means that development should take place without
damaging the environment, and development in the present should not compromise with the needs of
the future generations.

2. This concept stresses the role of the environment as capital that, if exhausted, cannot be
replaced.

3. It requires preservation of human capital, physical capital and natural capital.
19. What is meant by sustainable economic development? Give its main features.

Ans. Sustainable development may be defined as development that meets the need of the present
generation without compromising the need of ability of the future generations to meet their needs.
Environment and economy are inter-dependent and complementary to each other. Hence the process
of development should not ignore environmental issues.

The main features of sustainable development are as follow:
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1i.

iii.
iv.

It stresses meeting the needs of the present generation and future generation.
There should be restraints on wasteful luxurious consumption pattern.
Efforts should be made to invent environment friendly technology.

Fast growing population should be effectively checked.
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What is human development index? Who has prepared it? Write about basic components of
humandevelopment measurement.

Ans. Human development index is the cumulative measurement of the overall development of the
people of a country. It was prepared by United Nation Development Organization and it is published
by UNDP.The basic components of human development index are as follow:

Life expectancy at birth- It denotes average expected length of life of a person at the time of birth. It
is measured in terms of life expectancy in years.

Literacy- It is measured by gross enrolment ratio for three levels means enrolment ratio forprimary
school, secondary school and higher education beyond secondary school. Per capita income- It is
calculated in dollars for all countries so that it can be compared. It is also done in a way so that every
dollar would buy the same amount of goods and services in any country.

11/13



CLASS-X Social Science
Economics Chapter-1
The Story of Development

5 marks Questions

What is meant by development? Tell us about the two indicators of development.

Ans. 1. National Income: The level of national income indicates the level of development of a
country. National income is the value of all the final goods and services produced in a country
during a year and the income coming from abroad.

2. Per Capita income: Per capita income is the indicator of the income of all the citizens of a
country: When national income is divided by total population of the country, we get Per Capita
income.

2. What are the importance of Human development index?
Ans. 1. It indicates the development of a country.
2. It indicates to a country how far it has to yet travel to achieve a higher rank and how far it as
travelled.
3. It indicates the country that in which areas it is poor and in which areas it has improved.
4. Though it, one comes to know the important elements of economic welfare like life
expectancy, level of education attainment and real per capita income.
5. It measures material and non material components of development. 6.Human Development
Index is helpful for a country to plan its future agendas.
3. ‘Money cannot buy all the goods and services that one needs to lie well.” Explain.

Ans. 1. Money or material things that one can buy with it are one factor on which our life depends.
But the quality of life also depends upon non-material things like equal treatment, security, freedom,
security.

2. Money cannot buy pollution free environment, unadulterated medicines, peace.

3. There are many facilities like schools, colleges, parks, hospitals which people cannot afford.

4. Money cannot buy love affection respect for us and for others.

5. Money possessed by an individual even cannot provide us a type of government which takes
decisions for the welfare of common people.

1/6



4. Distinguish between Human Development and Economic Development.

Ans.

Human Development

Economic Development

1. Human development is related to the development of]
human beings in all aspects.

1. Economic development is related with
development of only economic

aspects.

2. It is a broader aspect of development as it includes
monetary as well as the non monetary

aspects.

2. It is a narrow concept as it includes only
the monetary aspect.

3. It concerned with qualitative and quantitative

growth.

3. It is concerned with only

quantitative aspects of growth.

4. Human development is the final goal of all the

Development.

4. It is a mean to achieve human

development.

5. Human Development includes development in the
form of money, education, health. Security,

dignity etc.

5. Economic development includes

development in the form of money

only.

5. Define Per Capita income? What are the limitations of the per capita income criteria of

development?

Ans. 1. Per capita income is income of per person. When national income is divided with the

population of the country, we get per capita income.
2. Per capita income criteria take into account only
social aspect of life.

the economic aspect of life and ignore the

3. Per Capita income criteria ignore education, heath, life expectancy, sanitation etc.
4. Per capita income criteria also ignore non material things like peace, pollution free

environment, democracy etc.

5. Punjab has higher per capita income as compared
Human Development Index because it is far behind than
mortality rate than Kerala.

to Kerala but it has been ranked lower on
Kerala in literacy rate and has higher infant

6. Distinguish between developed countries and developing countries.

Ans.

Developed countries

Developing Countries

1. Countries with more per capita income and

high average income. capita

1. Contries with low average income and less per

income.
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2. The standard of living of the people is very
high.

2. The standard of living of the people is not very
high.

3. Good health facilities.

3.lack of basic health facilities

4. The rate of saving, investment, capital4. The rate of saving, investment, capital

information is also very high. information is also very low.

5. Life expectancy is more. 5. Life expectancy is very low.

6. Example: Scandinavian Countries, USA. 6. Example: India, Nepal, Pakistan and
Bangladesh.

7. What is Undernourishment?

Ans. 1. The condition of nutrition value of people of Kerala is in better position as comparison to

Madhya Pradesh.
2. The main reason is that, assess upon the

country’s resources is more of rich people as

comparison to the poor. The riches 5% of Indian society consumes 25% resources than poorest. The

lack of education facilities and less awareness is
Pradesh.
3.

also a main cause of undernourishment. Madhya

If a person is not taking a balanced died and he is taking fewer calories as per the

requirement, it leads to serious health problems and weakness. This is undernourishment.
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Class X History
The Rise of Nationalism in Europe.

Q1. What was the main aim of the French
Revolutionaries?

ANS:- The main aim of the French revolutionaries was to
create a sense of collective identity amongst the French
people through various measures and practices.

Q2. What was the Napoleonic code? Name the countries
conquered by Napoleon.

ANS:- The civil code of 1804 introduced by Napoleon is
known as the Napoleonic code. It did away with all
privileges based on birth, established equality before law
and secured the rights to property.

The countries conquered by Napoleon were Holland,
Belgium, Switzerland, Italy.

Q3. Who was Frederic sorrieu?

ANS:- Frederic sorrieu was a French artist who prepared
a series of four prints visualizing his dream of a world
made up of Democratic and social Republics.

Q6. What is meant by Liberalism?



ANS:- The word Liberalism, derived from the Latin word
liber stands for the end of absolutism, aristocratic and
clerical privileges; a constitution and representative
government through parliament. It emphasizes
unrestrained freedom of thought, religion, speech, press
and politics.

Q7. Name the leader and the state which gave leadership
in Italian unification?

ANS:- Victor Emmanuel Il , the king of Piedmont and
sardinia gave leadership in Italian unification. He was
proclaimed king of United Italy in 1861.

Q8. Who were Marianne and GERMANIA?

ANS:- Marianne and Germainia were female allegories
invented by artists in the nineteenth century in France
and Germany respectively to represent the abstract idea
of the nation in concrete form. This was a way to
personify a nation.

Marianne: Female figure in France was christened
Marianne as a popular name. The underlying idea behind
portraying Marianne with symbols of liberty and
Republics was to represent the French nation as peoples
nation.



Germainia: Germainia was an allegory of the German
nation. Germainia of Germany was depicted by artist
Philip veit in 1848. She was represented standing against
a background where beams of sunlight shine through the
National tricolor flag;wearing a crown of oak leaves and
holding an unsheathed sword in her hand. The
underlying idea was to symbolize the Germans as heroic.

By Norbert Jamatia 13/5/2021



Notre Dame Holy Cross High School
Class-x  Science-2021

Answer the following question?

©wNo v

What are enzymes? Name any one enzyme of our digestive system and write its function.
Draw a diagram of human excretory system and label kidneys, ureters on it.

State the role of the following in human digestive system :

(i) Digestive enzymes (ii) Hydrochloric acid (iii) Villi

a)Explain how does the exchange of gases occur in plants across the surface of stems, roots
and leaves.

(b) How are water and minerals transported in plants ?

Mention the raw materials required for photosynthesis.

In mammals and birds why is it necessary to separate oxygenated and de-oxygenated blood ?
List in tabular form three differences between arteries and vein?

Why do the walls of the trachea not collapse ‘when there is less air in it?

Explain the process of nutrition in Amoeba

10 Write a note on double circulation of human body?



Notre Dame Holy Cross High School
Class-x  Science-2021

Answer the following question?

9.

We need to balance a skeletal chemical equation.” Give reason to justify the statement
Giving an example list two information which make a chemical equation more useful
(informative)
(i) Write a balanced chemical equation for process of photosynthesis.
(ii)When do desert plants take up carbon dioxide and perform photosynthesis?
Answer.
State the type of chemical reactions and chemical equations that take place in the following:
(i) Magnesium wire is burnt in air.
(ii) Electric current is passed through water.
(iii) Ammonia and hydrogen chloride gases’are mixed.
2g of ferrous sulphate crystals are heated in a dry boiling tube.
(i) List any two observations.
(ii) Name the type of chemical reaction taking place.
(iii) ‘Write the chemical equation for the reaction.
(i) Explain two ways by which food industries prevent rancidity.
(ii) Discuss the importance of decomposition reaction in metal industry with three points.
Write one example for each of decomposition reaction carried out with help of
(i) Electricity (ii) Heat (iii) Light.
Describe an activity to observe what happens when quick lime is added to water taken in a
beaker. State two important observations and name the type of reaction taking place.
What is the colour of ferrous sulphate crystals? How does this colour change after heating?

10. What do you mean by exothermic and endothermic reactions? Give examples.



IT Class 10 _Unit -1 Part - A
By Anthony Jamatia

Communication Skills

Communication Skills means how do we communicate
with each other. The way of presenting our information
is very important. Communication Skills include those
areas which deal with our talking, writing, expressing
our views. By reading this chapter you will understand
how to communicate with others decently. This includes
the overall development of your personality.

Session 1: Methods of Communication

The word '‘communication’ comes from the Latin

word commanicare, meaning 'to share'. Clear and concise
communication is of immense importance in work and
business environment as there are several parties
involved.

Communication has three important parts:



1. Transmitting — The sender transmits the
message through one medium or another.

2. Listening — The receiver listens or understands
the message.

3. Feedback — The receiver conveys their
understanding of the message to the sender in the
form of feedback to complete the communication cycle.

Communication Process and Elements
The various elements of the communication cycle are:
Sender: the person beginning the communication.

Message: the information that the sender wants to
convey.

Channel: the means by which the information is sent.
Receiver: the person to whom the message is sent.

Feedback: the receiver's acknowledgment and
response to the message.

Methods of Communication

Face-to-face informal
communication



e-mail

Notices/Posters

Business Meetings

social networks, message, phone call for
communication, newsletter, blog, etc

Choosing the right method of communication depends
on

- Target audience

» Costs

- Kind/type of information
- Urgency/priority

Session 2: Verbal Communication

Verbal communication includes sounds, words, language,
and speech. Speaking is one of the most effective and
commonly used ways of communicating. It helps in
expressing our emotions in words.



Type of Verbal Communication

Interpersonal Communication: This form of
communication takes place between two individuals and
is thus a one-on-one conversation. It can be formal or
informal.

Written Communication: This form of communication
involves writing words. It can be letters, circulars,
reports, manuals, SMS, social media chats, etc. It can
be between two or more people.

Small Group Communication: This type of
communication takes place when there are more than
two people involved. Each participant can interact and
converse with the rest.

Public Communication: This type of communication
takes place when one individual addresses a large
gathering.

Advantages of Verbal Communication

It is an easy mode of communication in which you can
exchange ideas by saying what you want and get a quick



response.

Disadvantages of Verbal Communication

Since verbal communication depends on written or
spoken words, sometimes the meanings can be
confusing and difficult to understand if the right
words are not used.

Mastering Verbal Communication

Think Before You Speak

. * Think about your topic.

. * Think about the most effective ways to make
your listeners

Understand the topic.

. Worite or note down whatever you plan to say.
. Concise and Clear
. Speak clearly, loudly and at moderate speed.

. Be sure the information you want to share is to the
point.



. Do not repeat the same sentences.
. Confidence and Body Language
. Be confident.

. Maintain eye contact, stand straight and be
attentive.

. Be friendly.

Session 3: Non-verbal Communication

Non-verbal communication is the expression
or exchange of information or messages without using
any spoken or written word.

Importance of Non-verbal Communication

In our day-to-day communication

* 55% communication is done using body movements,
face, arms, etc.

» 38% communication is done using voice, tone, pauses,
etc.

» only 7% communication is done using words.



Types of Non-verbal Communication

Facial Expressions

Posture

Gestures or Body Language

Touch

Space

Eye Contact

Paralanguage : tone, speed and volume of our voice.

Examples of Visual Communication

Session 4: Communication Cycle and the Importance of
Feedback

For effective communication, it is important that the
sender receives an acknowledgement from the receiver
about getting the message across. While a sender
sends information, the receiver provides feedback on
the received message.



Types of Feedback

Positive Feedback

Negative Feedback
No Feedback

A good feedback is one that is:

- Specific: Avoid general comments. Try to include
examples to clarify your statement. Offering
alternatives rather than just giving advice allows the
receiver to decide what to do with your feedback.

- Timely: Being prompt is the key, since feedback loses
its impact if delayed for foo long.

* Polite: While it is important to share feedback, the

recipient should not feel offended by the language of
the feedback.

» Offering continuing support: Feedback sharing
should be a continuous process. After offering
feedback, let recipients know you are available



for support.

Importance of Feedback

- It validates effective listening: The person
providing the feedback knows they have been
understood (or received) and that their feedback
provides some value.

- It motivates: Feedback can motivate people to build
better work relationships and continue the good work
that is being appreciated.

- It is always there: Every time you speak to a
person, we communicate feedback so it is impossible
not to provide one.

» It boosts learning: Feedback is important fo remain
focussed on goals, plan better and develop improved
products and services.

» It improves performance: Feedback can help to
form better decisions to improve and increase
performance.



Session 5: Barriers to Effective Communication
What is Effective Communication?

Effective communication follows the basic principles of
professional communication skills.

Barriers to Effective Communication

Physical Barriers

Physical barrier is the environmental and natural
condition that act as a barrier in communication in
sending message from sender to receiver. Not being
able to see gestures, posture and general body
language can make communication less effective.

Linguistic Barriers

The inability to communicate using a language is known
as language barrier to communication. Language
barriers are the most common communication barriers,
which cause misunderstandings misinterpretations
between people



Interpersonal Barriers

Barriers to interpersonal communication occur when
the sender's message is received differently from how
it was intended.

Organisational Barriers

Organisations are designed on the basis of formal
hierarchical structures that follow performance
standards, rules and reqgulations, procedures, policies,
behavioural norms, etc. All these affect the free flow
of communication in organisations

Cultural Barriers

Cultural barriers is when people of different cultures
are unable to understand each other's customs,
resulting in inconveniences and difficulties.People
sometimes make stereotypical assumptions about
others based on their cultural background

Ways to Overcome Barriers to

Effective Communication+ Use simple language

- Do not form assumptions on culture, religion or
geography

- Try to communicate in person as much as possible
- Use visuals



- Take help of a translator to overcome differences
in language
- Be respectful of other’s opinions

7 C's of Communication

1
Clarity

2

7 Completeness
Consider

7'c of
Communication

6

Correctness Conciseness

5 4
“ Concreteness
Courtesy 2

Session 6: Writing Skills — Parts of Speech

Writing skills are part of verbal communication and
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include e-mails, letters, notes, articles, SMS/chat,
blogs, etc.

Capitalisation Rules

Punctuation : Full stop, Comma, Question mark,
Exclamation mark

Basic Parts of Speech

The part of speech indicates how a particular word
functions in meaning as well as grammatically within the
sentence. Some examples are nouns, pronouns,
adjectives, verbs ,adverbs , Conjunctions, Prepositions,
Interjections

Session 7: Writing Skills — Sentences Active and
Passive Sentences

Types of Sentences

1. Statement or Declarative Sentence
2. Question or Interrogative Sentence
3. Emotion/Reaction or Exclamatory Sentenc

4. Order or Impe rative Sentence






CL 10 Notes Part A

By Anthony Jamatia

Unit 4: Entrepreneurial Skills

Topics to Study

In this chapter, you are going to read about Entrepreneurial Skills. This will help you to become
an entrepreneur. Entrepreneur means the person who provides a service to society. In easy
words, you can say that entrepreneurs are the businessman,. This does not mean only big
businessmen, an entrepreneur can be a small businessman too. Their new idea of a product
makes them different from the rest people. Here you will learn the qualities of an entrepreneur,
his importance and role. Entrepreneur can be a career option for you. Unit 4: Entrepreneurial

Skills of employability Skills class 10 provides you the complete knowledge to become an

Entrepreneurship and society.

Qualities and functions of an entrepreneur.
Role and importance of an entrepreneur.
The myth about entrepreneurship.
Entrepreneurship as a career option.

entrepreneur.



Session 1: Entrepreneurship and Society

Entrepreneurs run their businesses in a market. The market has people who buy products and
services and people who sell them also. When people are buying and selling from each other, it
is helpful for everyone because everyone involved makes money. This is how entrepreneurs

help in growing the area and society they live in.

what do entrepreneurs do when they run their business?

Fulfil Customer Needs

Demand means a product or service that people want. Entrepreneurs find out what people want.

Then, they use their creativity to come up with a business idea that

will meet that demand.

Use Local Materials

Entrepreneurs use the material and people available around them, to make products at low

cost.

Help Society



Entrepreneurs have a positive relationship with society. They make profits through activities that
benefit society. Some entrepreneurs work towards saving the environment, some give money to

build schools and hospitals. This way, the people and area around them becomes better.

Create Jobs

With the growth of a business, entrepreneurs look for more people to help them. They buy more

material, and from more people. The also hire more people to work for

them. In this way, more people have jobs. Sharing of Wealth Wealth means having enough

money to live a comfortable life. As entrepreneurs grow their business, the people

Lower Price of Products

As more entrepreneurs sell the same product, the price of the product goes down. For example,

when more mobile phones were getting sold in India, the cost of the

phone became lesser.

Bharti, the Jewellery Queen ( A Story)

Bharti is a young woman from Bihar. Many girls in her area like to wear earrings. She buys jute
from a farmer and makes earrings from that. Her business is called Manavi Natural Handicrafts.
She sees that most women in her village do not work. So, she hires two women to help her. As
her orders increase, she buys more jute. She hires three more women to work for her. The

farmer, and the women working for her now earn more money.



Session 2: Qualities and Functions of an Entrepreneur

Qualities of an Entrepreneur

Functions of an Entrepreneur



FUNCTIONS OF AN
ENTREPRENEUR
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Session 3: Myths about Entrepreneurship

Misconceptions

1. The misconception is that every business idea needs to be unique or special.

2. The misconception we have is that a person needs a lot of money to start a business.

3. A misconception we have is that only a person having a big business is an entrepreneur.

4. A misconception we have is that entrepreneurs are born, not made.



Session 4: Entrepreneurship as a Career Option

A career is a line of work that a person takes for life. There are two ways a person can earn a

living.

1. self-employment

2. wage employment

A person who becomes an entrepreneur goes through a career process. This process is

as follows:

ENTER
When an entrepreneur is starting, they are just entering the market to do business.

For example, Sanjana is starting a small grocery store in a locality.

SURVIVE
There are many entrepreneurs in the market. The entrepreneur has to remain in a competitive
market.

For example, there are many other grocery stores in the area. Yet, Sanjana’s store survives



the competition and does well. She also expands the store to two more floors.

GROW
Once the business is stable, an entrepreneur thinks about expanding his or her business.

For example, after five years, Sanjana has opened a chain of four more grocery stores in the

same city. In the next two years, she plans to expand to tow other cities.
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